
TITAN
MODEL : 1174S / 1174M / 1174L

INSTRUCTIONS SHEET PAGE: 1 of 6

IMPORTANT - READ CAREFULLY BEFORE INSTALLING FIXTURE. RETAIN THESE INSTRUCTIONS FOR FUTURE REFERENCE. 
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE AND ALL APPLICABLE LOCAL CODES, BY A PERSON FAMILIAR WITH THE 
CONSTRUCTION AND OPERATION OF THE PRODUCT, AND THE HAZARDS INVOLVED. PROPER GROUNDING IS REQUIRED FOR SAFETY.

A + B + C + D

A- UNFASTEN THE COUPLER FROM THE CANOPY.
B- SCREW THE CROSSBAR TO THE JONCTION BOX, USING (2) 8-32 SCREWS (NOT INCLUDED).
C-  MAKE ALL THE NECESSARY CONNECTIONS (SEE WIRING DIAGRAM) USING TWIST CONNECTORS (NOT INCLUDED). 
D- LIFT THE CANOPY UP TO THE CROSSBAR AND SCREW TIGHT THE COUPLER WITH THE ZINC PLATED NIPPLE.

INSTALLATION REMOTE MODEL ON JUNCTION BOX FOR ALL MODELS

COUPLER
(INCLUDED)

FIXTURE

 8-32 SCREWS
(NOT INCLUDED)

ZINC PLATED NIPPLE
(INCLUDED)

CROSSBAR
(INCLUDED)

C

B

INS-5114
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R1 Last update:  August 05, 2021 

WIRING DIAGRAM

REMOTE MODEL

A

D

CANOPY

TWIST CONNECTOR
(NOT INCLUDED)

LED +
LED -

RED
BLACK



TITAN
MODEL : 1174S / 1174M / 1174L

INSTRUCTIONS SHEET PAGE: 2 of 6

INSTALLATION TRIAC / ELV (LTE) OR DIMMING 0-10V (D10) ON JUNCTION BOX FOR SMALL MODEL

INS-5114
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R1 Last update:  August 05, 2021 

A + B + C + D

A- UNFASTEN THE COUPLER FROM THE CANOPY.
B- SCREW THE CROSSBAR TO THE JONCTION BOX, USING (2) 8-32 SCREWS (NOT INCLUDED).
C-  MAKE ALL THE NECESSARY CONNECTIONS (SEE WIRING DIAGRAM) USING TWIST CONNECTORS (NOT INCLUDED). 
D- LIFT THE CANOPY UP TO THE CROSSBAR AND SCREW TIGHT THE COUPLER WITH THE ZINC PLATED NIPPLE.

WIRING DIAGRAM
DIMMING 120V ONLY

TRIAC / ELV (LTE)

FIXTURE CABLES

LIVE
(black)

NEUTRAL
(white)

GROUND
(green)

WIRING DIAGRAM
DIMMING 120-277V

0-10V (D10) 

FIXTURE CABLES

LIVE
(black)

NEUTRAL
(white)

DIM +
(purple)

DIM -
(gray or pink)

GROUND
(green)

COUPLER
(INCLUDED)

FIXTURE

 8-32 SCREWS
(NOT INCLUDED)

ZINC PLATED NIPPLE
(INCLUDED)

CROSSBAR
(INCLUDED)

C

B

A

D

CANOPY

TWIST CONNECTOR
(NOT INCLUDED)



TITAN
MODEL : 1174S / 1174M / 1174L

INSTRUCTIONS SHEET PAGE: 3 of 6

INSTALLATION TRIAC / ELV (LTE) OR DIMMING 0-10V (D10) ON JUNCTION BOX FOR MEDIUM AND LARGE MODEL

INS-5114
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R1 Last update:  August 05, 2021 

A + B + C + D

A- UNFASTEN THE COUPLER FROM THE CANOPY.
B- SCREW THE CROSSBAR TO THE JONCTION BOX, USING (2) 8-32 SCREWS (NOT INCLUDED).
C-  MAKE ALL THE NECESSARY CONNECTIONS (SEE WIRING DIAGRAM) USING TWIST CONNECTORS (NOT INCLUDED). 
D- LIFT THE CANOPY UP TO THE CROSSBAR AND SCREW TIGHT THE COUPLER WITH THE ZINC PLATED NIPPLE.

COUPLER
(INCLUDED)

FIXTURE

 8-32 SCREWS
(NOT INCLUDED)

ZINC PLATED NIPPLE
(INCLUDED)

CROSSBAR
(INCLUDED)

C

B

WIRING DIAGRAM
DIMMING 120V ONLY

TRIAC / ELV (LTE)

FIXTURE CABLES

LIVE
(black)

NEUTRAL
(white)

GROUND
(green)

A

D

CANOPY

TWIST CONNECTOR
(NOT INCLUDED)

WIRING DIAGRAM
DIMMING 120-277V

0-10V (D10) 

FIXTURE CABLES

LIVE
(black)

NEUTRAL
(white)

DIM +
(purple)

DIM -
(gray or pink)

GROUND
(green)



TITAN
MODEL : 1174S / 1174M / 1174L

INSTRUCTIONS SHEET PAGE: 4 of 6

INS-5114
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R1 Last update:  August 05, 2021 

INSTALLATION WITH INTEGRAL DRIVER 
DIMMING 0-10V (D01) / LUTRON HI LUME® 1% ECOSYSTEM™ (D2B) / LUTRON HI LUME® 1% 2-WIRE
(120V FORWARD PHASE ONLY) (D3) FOR ALL MODEL ON JUNCTION BOX

A + B + C + D

A- UNFASTEN THE CANOPY PHILLIPS SCREWS, AND REMOVE THE CROSSBAR FROM THE CANOPY. 
 KEEP THE SCREWS IN SAFE PLACE.
B- SCREW THE CROSSBAR TO THE JUNCTION BOX, USING (2) 8-32 SCREWS (NOT INCLUDED).
C- MAKE ALL THE NECESSARY CONNECTIONS (SEE WIRING DIAGRAM) USING TWIST CONNECTORS (NOT INCLUDED). 
D- LIFT THE CANOPY UP TO THE CROSSBAR AND FASTEN WITH THE KEPT PHILLIPS SCREWS.

 8-32 SCREWS
(NOT INCLUDED)

C

B

WIRING DIAGRAM
DIMMING 120-277V

0-10V (D01) or BUS SUPPLY (D2B)

FIXTURE CABLES

LIVE
(black)

NEUTRAL
(white)

DIM +
(puple)

DIM -
(gray or pink)

GROUND
(green)

A
D

TWIST CONNECTORS
(NOT INCLUDED)

WIRING DIAGRAM

FIXTURE CABLES

LIVE
(black)

NEUTRAL
(white)

GROUND
(green)

DIMMING 120V ONLY
TRIAC/ELV (LTE) or TRIAC (D3) 

CROSSBAR
(INCLUDED)

CANOPY

 PHILLIPS SCREWS
(INCLUDED)

FIXTURE



A- UNFASTEN THE P-CLIP SCREW ON THE TOP AT THE CROSSBAR.
B- PULL THE POWER CABLE AND ADJUST TO DESIRED LENGTH. FASTEN THE P-CLIP SCREW.
C- CUT THE EXCESS CABLE AND MAKE ALL NECESSARY CONNECTIONS (FOLLOW POLARITY).

CABLE LENGTH ADJUSTEMENT FLAT CANOPY ONLY  (WITHOUT DRIVER ON CROSSBAR)

A

C

B

CANOPY

CROSSBAR

P-CLIP

P-CLIP
PHILLIPS

SCREW

A + B + C

TITAN
MODEL : 1174S / 1174M / 1174L

INSTRUCTIONS SHEET PAGE: 5 of 6

INS-5114
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R1 Last update:  August 05, 2021 



A- UNFASTEN THE PHILLIPS SCREWS ON THE CAP.
B- DISCONNECT THE QUICKS CONNECTORS AND UNFASTEN THE SET SCREW USING ALLEN KEY (NOT INCLUDED).
C- ADJUST THE POWER CABLE TO DESIRED LENGTH.
D- FASTEN THE SET SCREW TIGHT TO LOCK POSITION AND MAKE ALL NECESSARY CONNECTIONS (FOLLOW POLARITY).
E- LOWER CAP AND FASTEN THE PHILLIPS SCREW.

CABLE LENGTH ADJUSTEMENT

A B

D

TITAN
MODEL : 1174S / 1174M / 1174L

INSTRUCTIONS SHEET PAGE: 6 of 6

INS-5114
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7

P.: 514.523.1339   F.: 514.525.6107  www.sistemalux.com

CG - R1 Last update:  August 05, 2021 

E

C

QUICK
CONNECTOR

SET SCREW

FIXTURE

QUICK
CONNECTOR

SET SCREW

HEX 3MM
ALLEN KEY

(NOT INCLUDED)

FIXTURE

FIXTURE

PHILLIPS SCREWS
(INCLUDED)

CAP

POWER CABLE

FIXTURE

PHILLIPS 
SCREWS

(INCLUDED)

CAP

POWER
CABLE

POWER CABLE

SET SCREW

WIRING DIAGRAM
REMOTE MODEL

LED +
LED -

RED
BLACK

HEX 3MM
ALLEN KEY

(NOT INCLUDED)

 DISCONNECT THE MAIN LINE BEFORE ADJUST THE CABLE LENGTH.


